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Driehoeksmeting in een
rechthoekige driehoek

http://www.algemath.be

Opgave 1: Gevraagd: A =?
B 11cm C
19cm
A
Opgave 2: Gevraagd: IAClI=7?
C
28 cm
B 12° A




Opgave 3:

Gevraagd: A=?

B
37 cm
C 31lcm A
Opgave 4: Gevraagd: B =?

14 cm

12 cm




Opgave 5:

Gevraagd: IBCl =7

C

5 15 A

3cm
Opgave 6: Gevraagd: |IABI =7
C
20°
16 cm
B A




Opgave 7: Gevraagd: IABl =7
C
18 cm
s /57 A
Opgave &: Gevraagd: C =7
4 cm
B C
9cm




Opgave 9: Gevraagd: A =?
3cm
B
10 cm
A
Opgave 10: Gevraagd: IBCl =?
B
42°

63 cm




